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1. 2,854=
(i) 2000+50+4 (ii) 800+50+4 (iii) 2000+800+50 (iv) 2000+800+50+4 (v) 2000+800+4

2. 8,865=
(i) 8000+60+5 (ii) 8000+800+60 (iii) 800+60+5 (iv) 8000+800+60+5 (v) 8000+800+5

3. 5,234=
(i) 5000+200+30 (ii) 200+30+4 (iii) 5000+200+30+4 (iv) 5000+30+4 (v) 5000+200+4

4. 4,711 =
(i) 700+10+1 (ii) 4000+700+1 (iii)) 4000+700+10 (iv) 4000+10+1 (v) 4000+700+10+1

5. 3,647 =
(i) 3000+600+7 (ii) 3000+40+7 (iii) 600+40+7 (iv) 3000+600+40+7 (v) 3000+600+40

6. 3,954=
(i) 3000+900+50 (ii) 3000+900+4 (iii) 3000+50+4 (iv) 3000+900+50+4 (v) 900+50+4

7. 3000 + 300 + 80 + 6=
(i) 4386 (ii) 13386 (iii) 2386 (iv) 3376 (v) 3386

8. 733=
(i) 700+30+3 (ii) 700+30 (iii) 700+3 (iv) 30+3

9. 494 =
(i) 90+4 (ii) 400+4 (iii) 400+90+4 (iv) 400+90

10. 65,342=
(i) 60000+300+40+2 (ii) 60000+5000+300+2 (iii) 60000+5000+300+40+2 (iv) 5000+300+40+2

(v) 60000+5000+40+2

11. 82,515=
(i) 80000+500+10+5 (ii) 80000+2000+500+5 (iii) 80000+2000+10+5 (iv) 80000+2000+500+10+5

(v) 2000+500+10+5

12. 3000 + 200 + 50 + 2=
(i) 13252 (ii) 3262 (iii) -6748 (iv) 3252 (v) 3152

13. 7000 + 100 + 30 + 3=
(i) 7,033 (ii) 17,133 (iii) 6,133 (iv) 7,133 (v) 7,233
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8000 + 700 + 50 + 4=
(i) 8,854 (ii) 8,754 (iii) 9,754 (iv) 7,754 (v) -1,246

900 + 30 + 2=
(i) 932 (ii) 1932 (iii) 10932 (iv) -68 (v) 922

50 + 8=
(i) -942 (ii) 58 (iii) 158 (iv) 48 (v) 1058

20000 + 1000 + 500 + 40 + 5=
(i) 21545 (ii) 21645 (iii) 20545 (iv) 21555 (v) 21535

7000 + 400+ 20 + 1=
(i) 7,321 (ii) 17,421 (iii) 7,521 (iv) 7,421 (v) 7,411

7000 + 900 + 80 + 5=
(i) 7,985 (ii) 7,885 (iii)) 17,985 (iv) 7,995 (v) 7,975

200 + 30 + 8=
(i) 338 (ii) 228 (iii)) 238 (iv) -762 (v) 248

70 + 4=
(i) 74 (i) 64 (iii) 1074 (iv) -926 (v) 174

70000 + 5000 + 900 + 30 + 6=
(i) 75946 (ii) 75936 (iii) 76036 (iv) 75926 (v) 65936

9000 + 900 + 50 + 1=
(i) 10,051 (ii) 10,951 (iii) 9,941 (iv) 9,951 (v) 8,951

7000 + 400 + 50 + 4=
(i) -2,546 (ii) 8,454 (iii)) 7,454 (iv) 7,464 (v) 6,454

300+ 30 + 4=
(i) 234 (ii) 324 (iii)) 434 (iv) 10334 (v) 334

80 + 4=
(i) -16 (i) 1084 (iii) 74 (iv) 84 (v) 94

10000 + 4000 + 500 + 60 + 3=
(i) 4563 (ii) 14573 (iii)) 14663 (iv) 14463 (v) 14563

50000 + 5000 + 600 + 60 + 5=

(i) 45,665 (ii) 56,665 (iii)) 55,665 (iv) 65,665 (v) 55,655

70000 + 6000 + 700 + 70 + 5=

(i) 76,875 (ii) 66,775 (iii)) 86,775 (iv) 76,765 (v) 76,775
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400000 + 30000 + 1000 + 400 + 90 + 8=
(i) 421498 (ii) 441498 (iii)) 430498 (iv) 431498 (v) 431508

800000 + 50000 + 5000 + 400 + 90 + 8=
(i) 8,56,498 (ii) 8,54,498 (iii) 8,55,508 (iv) 8,55,498 (v) 8,55,398

800000 + 20000 + 2000 + 400 + 80 + 5=
(i) 822,495 (ii) 812,485 (iii) 822,485 (iv) 822,585 (v) 822,475

70000 + 2000 + 100 + 90 + 8=
(i) 71,198 (ii) 72,298 (iii)) 72,198 (iv) 72,098 (v) 72,208

40000 + 1000 + 900 + 20 + 6=
(i) 41,936 (ii) 40,926 (iii)) 42,026 (iv) 41,926 (v) 41,916

500000 + 90000 + 5000 + 500 + 10 + 4=
(i) 605514 (ii) 595614 (iii)) 595414 (iv) 595514 (v) 595504

700000 + 90000 + 3000 + 100 + 10 + 5=
(i) 7,94,115 (ii) 7,92,115 (iii) 7,93,015 (iv) 7,93,115 (v) 7,93,125

300000 + 30000 + 6000 + 900 + 50 + 9=
(i) 326,959 (ii) 337,059 (iii)) 336,959 (iv) 336,949 (v) 346,959

70000 + 1000 + 200 + 20 + 6=
(i) 71,226 (ii) 70,226 (iii) 71,236 (iv) 71,126 (v) 72,226

90000 + 7000 + 500 + 60 + 9=
(i) 107,569 (ii) 97,569 (iii)) 96,569 (iv) 87,569 (v) 97,669

700000 + 60000 + 5000 + 700 + 10 + 8=
(i) 755718 (ii) 765708 (iii)) 766718 (iv) 765718 (v) 775718

900000 + 70000 + 6000 + 500 + 90 + 4=
(i) 9,76,594 (ii) 9,86,594 (iii) 9,76,494 (iv) 9,77,594 (v) 9,75,594

200000 + 10000 + 8000 + 500 + 30 + 5=
(i) 218,535 (ii) 218,635 (iii)) 228,535 (iv) 218,525 (v) 208,535

7000000 + 200000 + 40000 + 3000 + 800 + 90 + 5=
(i) 7244895 (ii) 7243895 (iii) 7242895 (iv) 7243905 (v) 7233895

3000000 + 700000 + 20000 + 4000 + 900 + 80 + 2=
(i) 37,25,982 (ii) 37,14,982 (iii) 37,25,082 (iv) 37,23,982 (v) 37,24,982

5000000 + 900000 + 50000 + 6000 + 900 + 70 + 4=
(i) 5,956,974 (ii) 5,956,874 (iii)) 5,957,974 (iv) 5,957,074 (v) 5,956,964



46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

8000000 + 400000 + 70000 + 7000 + 200 + 70 + 1=
(i) 8477261 (ii) 8487271 (iii) 8477171 (iv) 8477281 (v) 8477271

8000000 + 700000 + 40000 + 4000 + 600 + 20 + 5=
(i) 87,44,635 (ii) 87,44,525 (iii) 87,54,625 (iv) 87,44,625 (v) 87,44,615

2000000 + 300000 + 80000 + 3000 + 100 + 40 + 3=
(i) 2,383,043 (ii) 2,393,143 (iii) 2,384,143 (iv) 2,383,143 (v) 2,382,143

8000000 + 500000 + 80000 + 5000 + 800 + 20 + 5=
(i) 8585815 (ii) 8575825 (iii) 8595825 (iv) 8585925 (v) 8585825

6000000 + 300000 + 50000 + 9000 + 900 + 30 + 4=
(i) 63,59,944 (ii) 63,60,034 (iii)) 63,58,934 (iv) 63,59,934 (v) 63,59,834

4000000 + 400000 + 90000 + 2000 + 800 + 90 + 4=
(i) 4,492,904 (ii) 4,482,894 (iii) 4,491,894 (iv) 4,492,894 (v) 4,502,894

Write the number for the given expanded form :
"(8 X 100000) + (4 x 10000) + (8 x 1000) + (4 x 10) + (8 x 1)"

(i) 848148 (ii) 858048 (iii) 848038 (iv) 848048 (v) 838048

Write the number for the given expanded form :
"(7 x 100000) + (6 x 10000) + (6 X 1000) + (7 X 100) + (8 X 10) + (2 x 1)"

(i) 7,66,882 (ii) 7,66,782 (iii)) 7,66,682 (iv) 7,66,792 (v) 7,56,782

Write the number for the given expanded form :
"(6 X 100000) + (3 x 10000) + (6 x 1000) + (9 x 100) + (7 x 10) + (3 x 1)"

(i) 635,973 (ii) 636,973 (iii)) 636,963 (iv) 636,983 (v) 637,073

Write the expanded form of the given number :247838
(i) (2 X 100000) + (4 x 10000) + (7 x 1000) + (8 x 100) + (4 X 10) + (8 x 1)

(ii) (2 x 100000) + (4 x 10000) + (7 x 1000) + (7 x 100) + (3 x 10) + (8 x 1)
(iii) (2 x 100000) + (4 x 10000) + (7 x 1000) + (9 X 100) + (3 x 10) + (8 x 1)
(iv) (2 x 100000) + (4 x 10000) + (7 x 1000) + (8 x 100) + (3 x 10) + (8 x 1)

(v) (2 X 100000) + (4 x 10000) + (6 X 1000) + (8 x 100) + (3 X 10) + (8 x 1)

Write the expanded form of the given number :1,38,275
(i) (1 x100000) + (4 x 10000) + (8 x 1000) + (2 x 100) + (7 x 10) + (5 x 1)

(ii) (1 x 100000) + (3 x 10000) + (8 x 1000) + (2 x 100) + (7 X 10) + (5 x 1)
(iii) (1 x 100000) + (3 x 10000) + (7 x 1000) + (2 X 100) + (7 X 10) + (5 x 1)
(iv) (1 x 100000) + (3 x 10000) + (8 x 1000) + (3 x 100) + (7 x 10) + (5 x 1)

(v) (1 x 100000) + (2 x 10000) + (8 x 1000) + (2 x 100) + (7 x 10) + (5 x 1)
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Write the expanded form of the given number :145

(i) (2 x100) + (4 x10) + (5 x 1) (ii) (-3 x 10000) + (9 x 1000) + (8 X 100) + (5 x 10) + (5 x 1)

(iii) (-3 x 1000) + (8 x 100) + (5 X 10) + (5 x 1) (iv) (1 x 100) + (4 x 10) + (5 x 1)

(v) (1 x10000)+ (1 X 100)+ (4 X 10) + (5 x 1)

Write the number for the given expanded form :
"(6 X 100000) + (1 x 10000) + (1 x 1000) + (9 x 100) + (7 X 10) + (6 x 1)"

(i) 612976 (ii) 621976 (iii)) 601976 (iv) 611966 (v) 611976

Write the number for the given expanded form :
"(4 x 100000) + (3 x 10000) + (5 x 1000) + (8 x 100) + (2 X 10) + (6 x 1)"

(i) 4,35,826 (ii) 4,34,826 (iii) 4,35,816 (iv) 4,36,826 (v) 4,45,826

Write the number for the given expanded form :
"(9 x 100000) + (4 x 10000) + (4 x 100) + (5 x 10) + (5 x 1)"

(i) 940,555 (ii) 940,455 (iii)) 940,355 (iv) 940,465 (v) 939,455

Write the expanded form of the given number :116512
(i) (1 x100000)+ (1 x 10000) + (7 X 1000) + (5 x 100) + (1 x 10) + (2 x 1)

(i) (1 x 100000) + (1 x 10000) + (6 X 1000) + (5 X 100) + (2 X 10) + (2 x 1)
(iii) (1 x 100000) + (1 x 10000) + (6 x 1000) + (5 x 100) + (2 X 1)
(iv) (1 x 100000) + (1 x 10000) + (6 x 1000) + (4 x 100) + (1 x 10) + (2 x 1)

(v) (1 x100000)+ (1 x 10000) + (6 x 1000) + (5 x 100) + (1 x 10) + (2 x 1)

Write the expanded form of the given number :4,78,944
(i) (4 x 100000) + (7 x 10000) + (8 x 1000) + (9 x 100) + (4 x 10) + (4 x 1)

(ii) (4 x 100000) + (7 x 10000) + (8 x 1000) + (9 x 100) + (5 x 10) + (4 x 1)
(iii) (4 x 100000) + (7 x 10000) + (9 x 1000) + (9 x 100) + (4 x 10) + (4 x 1)
(iv) (4 x 100000) + (7 x 10000) + (8 x 1000) + (9 x 100) + (3 x 10) + (4 x 1)

(v) (4 x 100000) + (6 x 10000) + (8 x 1000) + (9 x 100) + (4 X 10) + (4 x 1)

Write the expanded form of the given number : 910,959
(i) (9 x 100000) + (1 x 10000) + (9 x 100) + (5 x 10) + (9 x 1)

(ii)) (9 x 100000) + (1 x 10000) + (9 x 100) + (6 x 10) + (9 x 1)
(iii) (9 x 100000) + (1 x 10000) + (8 x 100) + (5 x 10) + (9 x 1)
(iv) (9 x 100000) + (9 x 100) + (5 x 10) + (9 x 1)

(v) (9 x 100000) + (2 x 10000) + (9 X 100) + (5 x 10) + (9 X 1)



Assignment Key

1) (iv) 2) (iv) 3) (iii) 4) (v) 5) (iv) 6) (iv)
7) (v) 8) (i) 9) (iii) 10) (iii) 11) (iv) 12) (iv)
13) (iv) 14) (ii) 15) (i) 16) (ii) 17) (i) 18) (iv)
19) (i) 20) (iii) 21) (i) 22) (ii) 23) (iv) 24) (iii)
25) (v) 26) (iv) 27) (v) 28) (iii) 29) (v) 30) (iv)
31) (iv) 32) (iii) 33) (iii) 34) (iv) 35) (iv) 36) (iv)
37) (iii) 38) (i) 39) (ii) 40) (iv) 41) (i) 42) (i)
43) (ii) 44) (v) 45) (i) 46) (v) 47) (iv) 48) (iv)
49) (v) 50) (iv) 51) (iv) 52) (iv) 53) (ii) 54) (ii)
55) (iv) 56) (ii) 57) (iv) 58) (v) 59) (i) 60) (ii)
61) (v) 62) (i) 63) (i)
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